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17's ruling: if the string broke completely off, it is 9109

a

Challenge (215 827): ruling that the requirement of a full 1w is only at the beginning of the process
i But: the remainders and shreds (¥vmTI3 171W) are valid 8w Y31
ii  Assumption: vV is if they are long enough to tie; ¥m1711 is even if they are totally ripped off = 7w>
iii  Rejection: read Y7193 7Y — a single term
1 Challenge: if so, why not just state 11v?
2 Answer: to teach that even n’m177) require a minimal MW — enough to tie a bow (as per above)

Various rulings about the 715 (winding thread)

a

i of SKmwwr 21 (based on 9o 1 corrections of attribution):
i Sxmww winding thread counts as one of the strings (support from report from Xin 71 72 117 from MWR? "1 of RWIR)
ii 37 if he wound a majority of the length — still valid (support from other report in 17's name from n>ny ")
1 Expanded version: majority is valid, as is one &9, but the ideal is 1/3 %7 (braid) and 2/3 91y (loose strings)
7w of winding: *31 — at least 3 winds
i An7712 10 less than 7 (corresponding to 7 heavens); no more than 13 (7 heavens plus spaces between them)
Sequence of winding: begin with white per "915n” - the same color as the garment; conclude with white — wTpa poyn
Story: N"21M 211 saw a man wearing an all-blue garment with n»x that were completely braided (no f1y)
i 37 nice garment, wrong nxx
ii /77237 nice garment, nice XX
1 Point of disagreement: vv. 2-3; T and
(a) n7237. choice — can make it entirely 9na or entirely %1
(b) 27 /1 there to teach amount of strings (9 13=2; 051 = 9 1ax2=4 strings), make the Yna from within it

Role of linen strings

a

(15 owa) 581wy wool strings exempt a linen garment
i Question: do linen strings exempt wool?
1 Lemmal: wool exempts linen because n%an, which must be wool, exempts linen — but not the inverse
2 Lemma2: juxtaposition of v. 1 to v. 2 defines either as exempting the other
ii ~ Answer: " 21 ruled that wool exempts linen, linen exempts wool and either of them exempt any garment
1 Even: a silk garment
2 Note: this is at odds with 1" —who ruled that silk garments are exempt from ¥
(a) Challenge (2715 #37): ruling that various types of silk are liable for ¥
(i) Answer: that is 112970
(if) Counter: end of that ruling (about silk garments) is that D nway 0¥ exempt them
1. If: we assume that the obligation is n”nn, we understand why rnvyw (wool/linen) is permitted
2. But if: it is only obligated 1322711, why would 1v»w be permitted?
a. Answer: ruling should be read that either 1n% OR n'nwa exempt them
(iii) Support (for o’x12® being obligated 122770 only): from ruling that silk strings exempt silk garment
1. If: they are only liable 13270, we understand how silk strings exempt them
2. But if: they are liable n"nn, only wool or linen could exempt them
3. Rejection: could follow ®17’s resolution of 9132913 Pn vs. mnwa X (v. 1)
a. Resolution: »nwal M0y are universal Dv1y; other materials only exempt their own kind
(b) 27 holds like a7 Rn: v. 4 sets the default of o1 in the NN to be nwaY X
(i) Note (»2n): this position is contrary to another 127 R1n, who extends 0131 *»3 to garments of other
materials, via 732 W8 (2 presumably would extend rx>x 21n to other garments as well)
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